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AN EE =S EE 908,619 1,689,895 NT81,276
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Al 817,119
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O EAIE 2=y 63,035
odles 78,4003 x2H 248 38,887
= 78,4003 x2& »52& 8,154
omLIfE 78,4003 x2H x682 * 150% 15,994
201 er23| 368,535 370,529 A1,994
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OFAANIE 23 EHIES +Y 6,470
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OIEZMDD| 2 =2
15,0003+ 12& 180
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OFIIQHE DR (f#442
325,000& 128 3,900
Os27 | Hassz
150,000& x 128 1,800
OFBIZE Bo442
18,000 *30E 204 A~ 1,080
OJIA - 8H AlDHAYE S L I A 550
OUIIIEAIE QE=E ZAle=rE 40,000
OstERE A2 S HIIE2 Hlbl 5,700
02 852494l 276,449 275,849 600
OZ2222 ¢ HAl 103,200
oSIEAIE HIIR=2 7,500,000 128 90,000
oSIHANAE == 1,100,000& *12& 13,200
OFEAINE 28EtS = Z
25,3003« 12& 304
OSIEAAE JIAAIERS2
10,830,000& * 12& 129,960
OXHAFAIE S22 (2H, HAZTEI| 5) 500
Ost&z 2EHA D] 200,000 %301 600
OPCIHE (75) 1,600
OPLIHE (220) 2,600
ol 1,500,000& *27| 3,000
O Z2H 1,000,000& *x27| 2,000
OZZY M Z2H 2,000
OFelA =H 30,000& %63 180
OINAZED| DA 500,000 *2CH 1,000
OFEAMAE ZZSIEAS 22|(HA, E22)
500,000 x2JH A~ 1,000
OFAMAE SX2el & 22|
1,000,000& *x83] 8,000
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FA BZHO0HRIL
Hm: Lol =X =
el AN RESE R EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OT AL IHASARS(CCTV)
99,9703 x 122 1,200
O=EZ RoliItA F0HE 22U 0+ S
2,145,0002 %02 19,305
206 M=l 1,000 2,000 21,000
01 M= HI 1,000 2,000 21,000
Oo&JIEE S wAtl 100,000& * 102 1,000
X SFIHIAS 172,549 117,047 55,502
101 @124H| 163,229 110,047 43,182
M ORINZZE2NSE S 183,229 110,047 43,182
OBE ZEX §ENY
83,8403 x24ZH x122 %33 72,438
OO0 SEEX HE=HY
83,8402 x10H+6 2 23] 10,061
O g o=
83,8402 x10H x3& x33] 7,546
OZ3=2X 654 K== (M)
83,8403 %540 45,274
OZE2X HAI=
83,8402 +8H x4 L *2 )4 A 5,366
O&Z& 3£R2X 33|
78,4003 x20H x2 & x23] 6,272
OZSSERA ZMAHLN &1
78,4002 ¥ 10242 #2353 6,272
201 fer= 3| 6,520 3,000 3,520
01 AtR2tc|HI 3,520 0 3,520
OW=&g HIl= Xl
1,760,0002 22 3,520
02 S5=24g4l 3,000 3,000 0
Oll=J| 2= 3,000
206 MH=Hl 10,000 10,000
01 MZH| 10,000 10,000
O34ZA M=H ¢ 10,000
405 AtatE = 2,800 4,000 1,200
01 TR ESFSHI 2,800 4,000 1,200
OWl=Jl 2& 400,000 *7CH 2,800
SEFAAE ZX 122,000 864,000 AT742,000
= 61,000
= 30,500
Al 30,500
401 AlZHIZ SO 122,000 864,000 AT742,000
[ 61,000
= 30,500
Al 30,500
01 A28l 122,000 864,000 AT742,000




LR Relin)
Lol =X 58
FaFSk=lpSg=lay-1 PSRy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OT AL EXIRA(BEZ HE== 5I1) 122,000
= 61,000
== 30,500
Al 30,500
SEAIEZHISAL 181,500 276,100 294,600
401 Al HIZL 2048 181,500 276,100 294,600
01 A&t 181,500 276,100 A94,600
OFAAE ATD &4 U FYIBA 20,000
OBIFAIE SX24 ZAHMEIOIHS, B
H, 22U M S) 139,500
OZS4XAE EAL WM B+3At 22,000
WNEIENETS) 72,990,090 63,864,822 9,135,268
= 43,816,662
& 8,041,357
Al 21,132,071
JOHIEHH 22X 676,729 568,479 118,250
= 64,332
< 106,685
Al 505,712
ol 2guls X 283,980 281,780 2,200
307 lztol & 283,980 281,780 2,200
04 QIZHHAIAIRH 2 X 65,560 63,360 2,200
OZOHAUHAL 2SN (SHEY) 65,560
10 Al SXAAEEHE 22X 96,000 96,000 0
OHOHIEH =288l XI&H
6,000,000 * 1691 £ 96,000
11 AMISXAIEEX 122,420 122,420 0
OZMAEEF *=clAEAAS 82,140
OZOHAAY 2SN (SHEY) 40,280
ol Hol SAAY 216,404 108, 166 108,238
= 61,880
Al 154,524
307 el2tol & 216,404 108,166 108,238
= 61,880
Al 154,524
1 AMISXAIEEXS 216,404 108, 166 108,238
OHMAEIAELXNALH2S (1) 101,385
s 27,374
Al 74,011
OHLI=S ZOoHQl BHoJAM AEH =T AL (
1,7987H1) 103,319
= 30,99%
Al 72,323
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2A:

X XH -
o=

200! 0t
NPT

Chel: ROJOICH 2T (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAIZZHOHSl BTt (10HA) 11,700
= 3,510
Al 8,190
SSHUNANEHHLNRALY X2 160,830 158,533 2,297
= 64,332
= 38,599
Al 57,899
307 elztol & 160,830 188,533 2,297
= 64,332
< 38,599
Al 57,899
11 AMEISXAEEE 160,830 188,533 2,297
OSSN HSXAAME XA 160,830
= 64,332
== 38,599
Al 57,899
ZOHQI X MEXRAH X3 (E2X)AY 16,515 10,000 5,515
= 6,206
Al 9,309
307 elztol & 15,515 10,000 5,515
= 6,206
Al 9,309
1 AMISXAIEEXS 15,515 10,000 5,515
OSSHMUI AN XNAHH K& 16,515
=S 6.206
Al 9,309
A2ISXAE2S A 28,774,469 27,981,908 792,561
= 16,661,317
=S 3,362,175
Al 9,750,977
ZOHRIHFAIE 2HXA(EX) 19,258,751 19,362,089 103,338
= 13,481,126
= 1,155,525
Al 4,622,100
307 gl2to| & 19,258,751 19,362,089 /103,338
= 13,481,126
= 1,155,525
Al 4,622,100
10 Al SXAAEEHE 22X 19,258,751 19,362,089 /103,338
OTMLNFAIZ(REE, ST, IR0
28 (1212) 19,258,751
= 13,481,126
= 1,155,525

3




2A:

X XH -
o=

200! 0t
NPT

Selr ARISXAE2S X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

| Al 4,622,100

ZOHRIHFAIE 2SN (EEX) 11,000 21,000 10,000
== 3,300
Al 7,700

307 212+01& 11,000 21,000 10,000
< 3,300
Al 7,700

11 AMEISXAEEES 11,000 21,000 10,000
OHOHHTAIE CCTV ellEH| X2 AHS 11,000
= 3,300
Al 7,700

ZOHAXSIHEAE 2 1,783,135 1,694,619 88,516
=S 366,627
Al 1,426,508

307 21201 & 1,783,135 1,694,619 88,516
< 356,627
Al 1,426,508

10 AlRIS XA EEE 22X 1,783,135 1,694,619 88,516
OB THEAIE 2| 1,783,135
= 356,627
Al 1,426,508

el AHlgaz K2 80,040 80,040 0
= 56,028
& 9,605
Al 14,407

307 elztol & 80,040 80,040 0
= 56,028
< 9,605
Al 14,407

11 AMEISXAEEES 80,040 80,040 0
OZ0He!l AHIYAZ XA (1IHL) 80,040
= 56,028
s 9,605
Al 14,407

FAURAANE AN (EX) 2,942,857 2,483,474 459,383
= 2,060,000
=S 882,857

307 elztol & 2,942,857 2,483,474 459,383
= 2,060,000
< 882,857

10 Al SXAAEEHE 22X 2,942,857 2,483,474 459,383
OBRIAE 2EXEH 2,942,857
= 2,060,000
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2A:
X XH -
o e

=aak

200! 0t
NPT
ARISXAE2E

SA - ZE - BR(30) - HRA - B of v e HIDE2
| & 882,857
HRAAE 2SN 100,599 91,242 9,357
== 32,180
Al 68,419
307 212+01& 100,599 91,242 9,357
< 32,180
Al 68,419
11 AR S KA 100,599 91,242 9,357
OZURITA 208 K& (1719) 12,509
= 3,753
Al 8,756
OEURSAI 10,000
=S 5,000
Al 5,000
OZMQAAIE MEQ HAH 2,850
S 855
Al 1,995
OEURAAIE 75,240
= 22,572
Al 52,668
ZoHel=s A2 L X1 30,000 30,000
307 21201 & 30,000 30,000
11 AMRISXAEEES 30,000 30,000
Of=2 Xl 30,000
Zoie!l SX2 29 1,734,000 1,649,029 84,971
= 346,800
Al 1,387,200
307 elztol & 1,734,000 1,649,029 84,971
= 346,800
Al 1,387,200
10 ALl S XIAl 1,734,000 1,649,029 84,971
OZeI=X 1,734,000
=S 346,800
Al 1,387,200
SO F2HESA 1,082,300 863,626 218,674
== 216,460
Al 865,840
307 glztol & 1,082,300 863,626 218,674
= 216,460
Al 865,840
10 A2l S XIAl 1,014,800 798,670 216,130
Ol =UHES AL 931,300
= 186,260




A 2204
M ARISISH

CHRlr ARRISXAIE2S XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 745,040
OFOHQ! FAESAIE 2A2I2HI(4H) 83,500
== 16,700
Al 66,800

11 AMEISXAEEE 67,500 64,956 2,544
OTOH FAESAIE ORISS A (10HA) 67,500
= 13,500
Al 54,000

el HE0ISNIHEH =23 317,000 307,283 9,717
=S 63,400
Al 253,600

307 21201 & 317,000 307,283 9,717
< 63,400
Al 253,600

10 Al2ISTIAIEEE 22X 317,000 307,283 9,717
O ME0ISXJMH 29 X 317,000
S 63,400
Al 253,600

ZULHIIESAIE 2S 487,765 472,208 15,557
= 97,553
Al 390,212

307 @201 & 487,765 472,208 15,557
s 97,553
Al 390,212

10 Al SXA2EE 22X 487,765 472,208 16,557
OFMAIIESAIE 2EH| K& (1) 487,765
[ 97,553
Al 390,212

el st==0SHHEH 29 276,000 266,777 9,223
= 55,200
Al 220,800

307 el2to| & 276,000 266,777 9,223
= 55,200
Al 220,800

10 AlISXAIZEHE 22X 276,000 266,777 9,223
OFel st=+HSHHH 24 276,000
== 55,200
Al 220,800

el SSdEIHE =29 174,220 168,385 5,835
= 17,422
Al 156,798

307 elzto| & 174,220 168,385 5,835
= 17,422
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2A:

X XH -
o=

200! 0t
NPT

Selr ARISXAE2S X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 156,798

10 Al SXAZEE 22X 174,220 168,385 5,835
OFe! SSMEIIHE 2 (D) 174,220
s 17,422
Al 156,798

HEZe BEX 79,900 83,8%4 A3,994
= 55,930
=S 9,588
Al 14,382

307 @12t0| & 79,900 83,894 A3,9%4
= 55,930
= 9,588
Al 14,382

1 AMISXAIEEXS 79,900 83,894 A3,994
OGEZHS nsXd 2S (1) 79,900
= 55,930
= 9,588
Al 14,382

ZoHe! JIEXJHE 23X 177,779 175,780 1,99
=S 53,334
Al 124,445

307 21201 & 177,779 175,780 1,999
< 53,334
Al 124,445

11 AMEISXAEEES 177,779 175,780 1,999
Ol JIEX2MEH 28 177,779
= 53,334
Al 124,445

oI HEH WFAAME 28 N2 202,500 199,69% 2,804
= 60,750
Al 141,750

307 @201 & 202,500 199,696 2,804
s 60,750
Al 141,750

1 AR SXAIEE X 202,500 199,696 2,804
O HHNFHEH 2 202,500
[ 60,750
Al 141,750

O H=AIE SIIEED| elE X2 9,528 9,766 N238
= 5,717
[ 1,143
Al 2,668

307 lztol & 9,528 9,766 N238
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A 2204
M ARISISH

CHRlr ARRISXAIE2S XA

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 5,717
=S 1,143
Al 2,668
11 ARRIS XA E X 9,528 9,766 N238
OZOMAANFAIE S0I1FE)| dE X 9,528
= 5,717
= 1,143
Al 2,668
S ROtAFAIE 2HEHl XE AL 23,000 23,000
307 @12t0| & 23,000 23,000
11 ARRISXAIEE X 23,000 23,000
OZMSROF HFAIE 2HEHH| XI& ALY 23,000
AR S XA E S ALK 500 0 500
201 er23| 500 500
01 AlR2telHl 500 500
OARISXIAIES A & HREGA 2130
F(LA=EE) 500
CIANE S=SAE 24| 3,695 0 3,5%
= 2,516
= 431
Al 648
307 elztol & 3,59 0 3,59
= 2,516
< 431
Al 648
11 AMEISXAEEE 3,5% 0 3,5%
OUXE SSAtY 2gHI(al7) 3,59%
= 2,516
== 431
Al 648
A2 S XA E S ALK 2 788,540 928,660 140,120
= 221,772
Al 566,768
ARISXAIESAA HRHE & AR S 44,500 47,860 A3,360
202 04l 42,000 45,360 A3,360
01 =LHOHI 42,000 45,360 A3,360
OAtzlsAI2e R0 O
140,000 «25E  12& 42,000
203 =4l 2,500 2,500
03 A=A 2= 2,500 2,500
OZZHOHI Dt A=A 1,000
O=AAlE & A 22|HRFA 1,500
SO SAAL MBS XS 4,800 2,400 2,400




FA: B2E0 0t
M AlR=Xsd

SRl ARISXIAIES AR (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 4,800 2,400 2,400
14 IIEt2 83 4,800 2,400 2,400
OFUESA FHT T
100,000 x4 x 122 4,800
S XNAESAHAL SE+E 739,240 878,400 A139,160
=S 221,772
Al 517,468
307 21201 & 739,240 878,400 139,160
S 221,772
Al 517,468
11 AMEISXAEEES 739,240 878,400 139,160
OZMU=SXIAIE BAK SE=LH(2BMA) 739,240
= 221,772
Al 517,468
ARISXAIE JIs2ZAISE 752,134 763,046 A10,912
= 366,067
& 129,820
Al 256,247
ZOHAXMATHEAIE JIS2Z A 30,758 0 30,758
= 15,379
< 4,614
Al 10,765
402 BIZtAH=01 A 30,758 0 30,758
= 16,379
=S 4,614
Al 10,765
02 RIENEASEZ(0IETHR) 30,758 0 30,758
OZOAXLTHEAIE JISELAY 30,758
= 16,379
= 4,614
Al 10,765
UL FUES AL JISE2ELAY 701,376 0 701,376
= 350,688
= 105,206
Al 245,482
402 2IZtA=01A 701,376 0 701,376
= 360,688
= 105,206
Al 245,482
02 QI A2 AL E R (0IHTHE) 701,376 0 701,376
Ok=2=E &M= 692,912
= 346,456
& 103,936




2A:
X XH -
o e

=aak

200! 0t
NPT
MEISXIAE JIsELAMSE

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 242,520
OFHI7Y (3MHA) 8,464
= 4,232
= 1,270
Al 2,962

QAL JIsEL AHY 20,000 0 20,000
== 20,000

402 2I2F X201 & 20,000 0 20,000
= 20,000

02 QI XH2AILEE (01X THE) 20,000 0 20,000
OZUQYAIE JIsEL A 20,000
& 20,000

ZOHQ! MEOoHY 41,998,218 33,622,729 8,375,489
= 27,724,946
= 4,220,905
Al 10,052,367

o= Ka 12,418,512 12,139,599 278,913
= 8,692,958
= 1,117,666
Al 2,607,888

301 EtE N = 12,418,512 12,139,599 278,913
= 8,692,958
< 1,117,666
Al 2,607,888

01 A2 HSHS(RNEERTHE) 12,418,512 12,139,599 278,913
OZ 0N AS(3,5329) 12,418,512
= 8,692,958
< 1,117,666
Al 2,607,888

S = {GIES = 2,069,890 1,237,010 822,880
= 1,441,923
< 247,187
Al 370,780

301 2eEN= 2,059,890 1,237,010 822,880
= 1,441,923
=S 247,187
Al 370,780

01 Al EE AL S(FREXH) 2,069,890 1,237,010 822,880
OFOM=+=Z(I1x)(2,975%) 2,069,890
= 1,441,923
= 247,187
Al 370,780

=2 E) X2 1,094,310 709,774 384,536




2A:
X XH -
o e

=aak

=Rl
NEEWES
Hojol MEOLH

=

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

= 766,017
=S 131,317
Al 196,976

301 EetE2 NS 1,094,310 709,774 384,536
= 766,017
= 131,317
Al 196,976

01 Al EE AT S (2 RDEXA) 1,094,310 709,774 384,536
OF =L (Xtatel S)(1,361Y) 1,094,310
= 766,017
= 131,317
Al 196,976

Jojesi=0 K 16,232,767 13,184,260 3,048,507
= 11,362,937
= 1,460,949
Al 3,408,881

307 elztol & 16,232,767 13,184,260 3,048,507
= 11,362,937
< 1,460,949
Al 3,408,881

05 21t =2 16,232,767 13,184,260 3,048,507
QTN BSXIHAI(645Y) 16,232,767
= 11,362,937
== 1,460,949
Al 3,408,881

o ESTE=0 IS 450,000 0 450,000
= 135,000
Al 315,000

307 elztol & 450,000 0 450,000
= 135,000
Al 315,000

05 212t =S 450,000 0 450,000
OFOHQ! SSXAAY SHIXIR (1398) 450,000
=S 135,000
Al 315,000

ZOHUESEX SN 171,078 50,058 121,020
= 119,754
=S 16,397
Al 35,927

307 @12t01 & 171,078 50,058 121,020
= 119,754
= 15,397
Al 35,927




2A:
X XH -
o e

=aak

=Rl
NEEWES
Hojol MEOLH

=

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

L

05

e

2+,

opel

m
oy

b

O
0z
121

0

BX JIAS0(31E)

hoH

=

171,078
171,078
119,754
15,397
35,927

50,058

O LT eI XI& (L LRt2l)

SR

=

,585,886

792,943
317,177
475,766

1,369,768

216,118

101 @124d|

Mo

=

,585,886

792,943
317,177
475,766

1,369,768

216,118

04 JIRHNIZ2Z2XSE+
OO0l Lers AT el X (55Y)

Mho

=

,585,886
,585,886

792,943
317,177
475,766

1,369,768

216,118

ZOHOIL X2 KIS (AIZEMIL RF2 )

Mho

=

288,412
144,206
57,683
86,523

207,008

81,404

101 e124d|

o

=

288,412
144,206
57,683
86,523

207,008

81,404

04 JIZtN22 NS 2+
OFOHR! AIREH Xt X (20H)

hoH

=

288,412
288,412
144,206
57,683
86,523

207,008

81,404

Zoeld Kl XI& (SXILXiel)

hoH

=

809,870
404,935
161,974
242,961

747,017

62,853

307 212t01™

Mo

=

809,870
404,935
161,974
242,961

747,017

62,853

11 ARIEXAIEEE

OZF 0Kl SXILXtel XA (120H)

Mo

809,870
809,870
404,935
161,974

747,017

62,853
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2A:
X XH -
o e

=aak

=Rl
NEEWES
Hojol MEOLH

=

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2

| Al 242,91

AZEOHCICHOIAF I3 AL 255,120 209,292 45,828
= 204,096
& 20,410
Al 30,614

307 QI2Hol ™ 255,120 209,292 45,828
= 204,0%6
& 20,410
Al 30,614

11 AL SXAMEES 255,120 209,292 45,828
OAIZHE OOl OFDFAF IHAAN (14Y) 255,120
= 204,0%6
= 20,410
Al 30,614

BN LRLAE S A ETAY 401,516 366,931 34,585
= 200,758
= 80,303
Al 120,455

307 212+01 A 401,516 366,931 34,585
= 200,758
& 80,303
Al 120,455

11 AR SXAMEE R 401,516 366,931 34,585
OLSHl QABSAF BRI} (22H) 401,516
= 200,758
T 80,303
Al 120,455

MNASHEOHC! &MEH] & HAHH XI& 15,580 9,360 6,220
= 7,790
T 3,116
Al 4,674

301 LB F 15,580 9,360 6,220
= 7,790
& 3,116
Al 4,674

01 AISIBEHAGS(2LETME) 15,580 9,360 6,220
OXHel SEXICHH| X2 (301H) 15,580
= 7,790
& 3,116
Al 4,674

ZHofelelZH| XA 342,356 494,728 A152,372
= 273,885
& 27,389

3




2A:

200! 0t

EEEHVA IS NESES,
e SV Relps 2 ol o (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 41,082
308 AtXIEHMSOIE 342,35 494,728 A162,372
= 273,885
= 27,389
Al 41,082
1 SIS0t EAS A 342,356 494,728 A162,372
OFofe! =dl XI&(1,1102) 342,356
= 273,885
& 27,389
Al 41,082
ZOjeIERD|7 W2 21,805 18,438 3,367
= 17,444
< 1,744
Al 2,617
301 EtE NS 21,805 18,438 3,367
= 17,444
== 1,744
Al 2,617
01 AR 2EHSHS(RDNEXRTH) 21,805 18,438 3,367
OZ0Hel X7 w2 (66Y) 21,805
= 17,444
=S 1,744
Al 2,617
O HSX EXE K= 2,200 3,300 21,100
201 =3 2,200 3,300 A1,100
01 At2t2ltl 2,200 3,300 21,100
OISR HXIEHIE 2,200
JISES e N 12,000 14,000 22,000
201 er2&| 12,000 14,000 22,000
2 s5=34l 12,000 14,000 A2,000
OHMISES RS 12,000
oKl &2 25 22,170 22,170 0
s 6.651
Al 15,519
301 22N = 22,170 22,170 0
[ 6,651
Al 15,519
02 AR 2EH 2GS (HAAS, NWE) 22,170 0 22,170
OFe! A2ES(739Y) 22,170
= 6,651
Al 16,519
HgZoe satglE N 9,000 13,500 24,500
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FA: B2E0 0t
M AlR=Xsd

Eelr ZOHQ! MEOHY (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 6,300
T 810
Al 1,890
301 LB F 9,000 13,500 24,500
= 6,300
& 810
Al 1,890
01 A BEAHZ(RRNEETR) 9,000 13,500 4,500
O HE0el E4HIE X2 (9Y) 9,000
= 6,300
& 810
Al 1,890
HAZ0HR S4HHIE XIR(AIBIFEIH 4,500 0 4,500
301 LPBNF 4,500 0 4,500
2 AN BEA>HS(HUHS, NYHA) 4,500 0 4,500
O H &0 EAHIS(ABIFEI) 4,500
SETOHC! BHS A S4HIE KR A 3,000 3,000 0
= 900
Al 2,100
301 LPENZ 3,000 3,000 0
& 900
Al 2,100
02 MBI EZASHS(HUAS, XLTHA) 3,000 0 3,000
SE OISR E4HIE XIAIE(3Y) 3,000
& 900
Al 2,100
LETHEAMYIA BIRH XI& 1,367,002 1,166,400 200,602
= 956,901
& 136,700
Al 273,401
307 212+01™ 1,367,002 1,166,400 200,602
= 956,901
& 136,700
Al 273,401
05 QIZtRIEr S 1,367,002 1,166,400 200,602
OYLMEALIA XA (570Y) 1,367,002
= 956,901
= 136,700
Al 273,401
HHLEXR HIR™HAA 15,170 14,740 430
= 10,619
= 1,517
Al 3,034
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2A:

X XH -
o=

200! 0t
NPT

e SV Relps 2 ol o (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 156,170 14,740 430
= 10,619
== 1,517
Al 3,034
05 2ItRIE = 15,170 14,740 430
OO L RRAAS (7Y) 15,170
= 10,619
=S 1,517
Al 3,034
LEHY F2AEANZ 9,429 3,714 5,715
= 6,600
=S 849
Al 1,980
307 21201 & 9,429 3,714 5,715
= 6.600
= 849
Al 1,980
05 2I2+RIE =S 9,429 3,714 5,715
Og gzl 22 ae|AEXIR (5Y) 9,429
= 6,600
= 849
Al 1,980
LT F2LESMEIAXE 1,485,910 1,112,027 373,883
= 1,040,137
= 133,732
Al 312,041
307 elztol & 1,485,910 1,112,027 373,883
= 1,040,137
< 133,732
Al 312,041
05 2IMRIE = 1,485,910 1,112,027 373,883
OLETHR F2A2SMUIARIA(578) 1,485,910
= 1,040,137
== 133,732
Al 312,041
LEHQ FHESHHIA =IO 279,367 0 279,367
= 83,810
Al 195,557
307 el2tol & 279,367 0 279,367
= 83,810
Al 195,557
05 212t =S 279,367 0 279,367
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FA: B2E0 0t
M AlR=Xsd

e SV Relps 2 ol o (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLLHMNLl ZAHEMUIA CEIIXIA(T
&) 279,367
= 83,810
Al 195,557
220 =S AEAKA 499,633 422,444 77,189
= 349,743
= 44,967
Al 104,923
307 el2to| & 499,633 422,444 77,189
= 349,743
S 44,967
Al 104,923
05 2IHRIE S 499,633 422,444 77,189
Oggdel gusasMEIAXI(68Y) 499,633
= 349,743
[ 44,967
Al 104,923
Zoie! ot 29 X 36,000 36,000 0
= 10,800
Al 25,200
307 el2to| & 36,000 36,000 0
= 10,800
Al 25,200
1 AMISXAIEEXS 36,000 36,000 0
OFOH! oFstwal 2E (1) 36,000
== 10,800
Al 25,200
SST0Y 22X AFHXIA 54,000 39,000 15,000
301 EtE NS 54,000 39,000 15,000
14 JIEt2d=3 54,000 39,000 15,000
OZSHH 22X A XA
50,0002 «00H * 12& 54,000
LEOHQ! LXK (AR XI2l) 22,423 21,691 732
101 21A4H| 22,423 21,691 732
04 JIZtN2Z2 XS 22,423 21,691 732
OLgHM IZM22 X 2=(2F)
39, 2002 x2H*x262 112 22,423
LEHY BHNIHE A 1,850,000 0 1,850,000
= 925,000
Al 925,000
401 Al HIZL 01| 1,850,000 0 1,850,000
= 925,000
Al 925,000
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2A:

200! 0t

H: ABI=XIEA
e SV Relps 2 ol o (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 81,225
ZHOHOI L Xr2I K& (AIRFRIL Xt ) (KER) 66,780 0 66,780
307 2I2t0| A 66,780 66,780
TNEEVNETES 66,780 66,780
OROjel ¥ES LR 2lA 66,780
HeEE(Z2F0HA) 100,428 1,084,632 984,204
AN ES 100,428 1,084,632 984,204
LIS HHRIZ(FAAISEHTI S FRIXIAIIS) 100,428 1,084,632 984,204
702 J12HES 100,428 1,084,632 984,204
NPIERES 100,428 1,084,632 984,204
OZAAIE FBX FoIX2)|3 853 100,428
BZ2SII(ZI2Z 0421 115,542 117,537 A1,9%
oled 2 | 77,402 76,154 1,248
ol 2| 77,402 76,154 1,248
101 Q124 77,402 76,154 1,248
02 JIEHE 24 77,402 76,154 1,248
OAIRHISRILIIH S22 77,402
o2(2+3) 3,110,98021* 12 x 122 37,332
024(0t3) 2,161,80021*12x 122 25,943
otESE 140,00024* 12 x 122 1,680
OH AT 140,000 x284* 122 3,360
X BEXEH| 135, 62024 x22i* 122 3,255
ofH ZEH| 43, 750212 x 122 1,050
0SHHLLH(212)
155,67021* 12+ 122 1,869
0SAHLE(012)
101, 70024+ 1&x 122 1,221
o2 It A (2+2) 1,028
02 I} A (0}2) 669
o= 38,140 41,383 A3,243
o122 38,140 41,383 A3,243
201 Yty 29,800 30,808 A1,008
01 AFR221H| 24,800 25,803 A1,008
O=AIEN 7 4,270
OZelE & 5,280
OJIEF At 15,250
2 Z22gY| 5,000 5,000 0
OBBXE KALI(LEE, ASIHH, SFH|
S) 5,000
208 AR ETY| 4,980 4,980
04 2N eFLREAY| 4,980 4,980
OR A 2HALZZIY| 415,002 * 128 4,980
405 XHAHE SH| 3,360 5,600 A2,240
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2A:

S HY2AAH(FZ2F0HlD)
=l Jl=3H| (St &)
= - d L=
SA - BE - G9I(3H) - NIRAY - BAS Ol v e HlRE2
01 XL = FF S| 3,360 5,600 A2,240
OpPC ¢ 1,120,000 «3CH 3,360
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